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                                                          Abstract 

In this research thesis, we have described some new mathematical connections 
between Maxwell’s Equations, some sectors of the String Theory and Particle 
Physics, and some sectors of Number Theory, precisely various Ramanujan’s 
expressions and equations.   
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This paper is dedicated to the memory of the great genius J.C. Maxwell, a man of 
science, a man of God! 

 

 



 

 

http://xaktly.com/ElectromagneticWaves.html

 

 

 

 

 

 

http://www.hotelsrate.org/equation
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http://xaktly.com/ElectromagneticWaves.html 

 

http://www.hotelsrate.org/equation-of-parabola/ 
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From: 
http://web.mit.edu/8.02t/www/mitxmaterials/Presentations/Presentation_W13D2.pdf 
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James Clerk Maxwell 

 

 

 

Man of science, man of God. 

Maxwell's faith also manifested itself in his approach to scientific activity. He 
declared himself a "reader of the book of nature". According to Maxwell, this book 
appears to the scientist as orderly and harmonious, revealing the infinite power and 
wisdom of God in his unattainable and eternal truth. Maxwell justified the knowable 
of nature and the success of science, that is man's ability to develop a science that 
knew how to preach some truths about nature, through an act of faith. In fact he 
claimed that God had created human mind and nature in correspondence. 

 

 

Maxwell’s Equations 
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From: 

A Dynamical Theory of the Electromagnetic Field 
J. Clerk Maxwell - Phil. Trans. R. Soc. Lond. 1865 155, 459-512, published 1 
January 1865 
 

 

 

Now, we calculate the integral of half value of P, that represent the greatest value of 
the electromotive force. Indeed, half of this consists of magnetic and half of electric 
energy: 

1.08643 * integrate [3*10^7]  x, [0, Pi/10^4] 

 
Result: 
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We calculate now the double integral of the value of P: 

 

1.08643 * integrate integrate [6*10^7]  [Pi/73.7*10^4]        

where Pi/73.7 = 0,0426267659 = 0,67407822488 

 
Result: 

 
 

Plot: 

 
 

Now we calculate the integral of the value of W = 477464.8292 that is the energy 
passing through the unit of area: 

1.08643 * 1/10^25  integrate [477464.8292]  [0, Pi] 

 
Result: 

 
 

Result that is a good approximation of the electric charge of positron. 
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The value of k, that is the “coefficient of electric elasticity, of (46) is equal to  
1213400548222332932.49 

Now we calculate the following integral: 

1.08643^2 * 0.61803398^3 * (1/(10^37)) integrate [1213400548222332932.49]  x, 
[0, Pi/10^4] 

 
Result: 

 
 

value very near to the mass of the proton. 

Now we calculate the following double integral: 

1.08643^2 * 0.61803398^e *e * (1/10^41) integrate  integrate 
[1213400548222332932.49]  [Pi/10^4] 

 
Result: 

 
 

Plot: 
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Results that, practically, are excellent approximations of the proton mass. Recall that 
when a proton collides with its antiparticle (and in general when any baryon collides 
with an antibarion), the reaction is not as simple as electron-positron annihilation. 
Unlike the electron, the proton is not an elementary particle. In fact it is a particle 
composed of three valence quarks and an indeterminate number of sea quarks, linked 
by gluons. So when a proton collides with an antiproton, one of the valence quarks 
that constitute it can annihilate itself with an antiquark, while the remaining quarks 
will rearrange into mesons (mainly pions and kaons) that will move away from the 
point where the annihilation occurred. The mesons created are unstable particles and 
will decay. In particle physics, mesons are a group of subatomic particles composed 
of a quark and an antiquark bound by a strong force. They are unstable particles and 
typically decay into photons or leptons. 

 

 

From: 

https://www.rit.edu/studentaffairs/asc/sites/rit.edu.studentaffairs.asc/files/docs/service
s/resources/handouts/C7_AreasbyIntegration_BP_9_22_14.pdf 
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Now: 

 

integrate [32/3] x, [0, e^2/14] * 1.08643 

 
Result: 
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the result is very near to the electric charge of the positron  
 

Pi/(4e) * integrate integrate [32/3] * 1.08643 

 
Result: 

 
 

Plot: 

 
 

and this is very near to the value of the mass of proton. 
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Now: 

integrate [157/6] x, [0, e^2/22] * 1.08643     0.669400422.71828 = 0.3358657…= e2/22 

 
Result: 
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integrate [157/6] x, [0, e^2/21.54] * 1.08643 where 0,343039 one obtain from 
0.664532.61803398 =  
 

 
 
Pi/(10e) * integrate integrate [157/6] * 1.08643 
 

 
 
Result: 

 
 
Plot: 

 
 
value very near to the mass of the proton 
 
 
 
From: https://www.berkeleycitycollege.edu/wp/wjeh/files/2012/08/calculus_note_area_bt_curve.pdf 
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We calculate the following integral: 
 
 
integrate [3*sqrt(3)]  x, [0, Pi/4] 
 

 
 
Visual representation of the integral: 

 
 

 
Pi/(2e) * integrate integrate [3*sqrt(3)] * 1.08643     or: 
 
Pi/(2e) * integrate integrate [(((3*sqrt(3)/4))-1))+(((3*sqrt(3)/2)))+((1+3*sqrt(3)/4))] 
* 1.08643 
 

 
Result: 
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Result: 

 
 
 
Plot: 

 
 

 
All the values are very near to the electric charge of the positron 
 

 
Wave function of the Universe concerning the Hartle-Hawking no-boundary 
proposal  
 
Now we calculate the following integral regarding the wave function of the Universe 
of the Hartle-Hawking no-boundary proposal, that is: 
 

 
𝜓଴𝑎଴ = −3,357714479.  

1.08643 * integrate [-3.357714479]  x,[0, -Pi^2/10.53]   where 0,937284 is  
 
0,63547491/7 
 

 
 
Now we calculate the following double integral: 
 
1.08643 * integrate integrate [-3.357714479]  [0, -Pi^2/11]    
 
where  – Pi^2/11 =  –  0.89723676   that is  
 
0,64807943551/4 (i^2) = 0.89723676 *  – 1 =  –  0.89723676   
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Result: 

 
 
Plot: 

 
 
Parametric plot: 

 
 

  
Values very near to the electric charge of the electron and to the mass of the proton. 
 
 
From these examples it can be seen that also from an integration of an integration on 
a parabola, with the appropriate definition range, we obtain solutions correspondent 
to the charges of the positron and mass of the proton. D-branes are usually classified 
by their size, which is indicated by a number written after D: a D0-brane represents a 
point, a D1-brane (also called D-string) a line, a D2 brane a plane , a D25-brane 
represents a possible space predicted by string theory. 
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From: 

 https://www.secret-bases.co.uk/wiki/History_of_Maxwell%27s_equations 

Relationships among electricity, magnetism, and the speed of light 

The relationships among electricity, magnetism, and the speed of light can be summarized by the 
modern equation:  

                                                        

The left-hand side is the speed of light and the right-hand side is a quantity related to the constants 
that appear in the equations governing electricity and magnetism. Although the right-hand side has 
units of velocity, it can be inferred from measurements of electric and magnetic forces, which 
involve no physical velocities. Therefore, establishing this relationship provided convincing 
evidence that light is an electromagnetic phenomenon.  

The discovery of this relationship started in 1855, when Wilhelm Eduard Weber and Rudolf 
Kohlrausch determined that there was a quantity related to electricity and magnetism, "the ratio 
of the absolute electromagnetic unit of charge to the absolute electrostatic unit of charge" (in 
modern language, the value  ), and determined that it should have units of velocity. They 
then measured this ratio by an experiment which involved charging and discharging a Leyden jar 
and measuring the magnetic force from the discharge current, and found a value 
3.107×108 m/s, remarkably close to the speed of light, which had recently been measured at 
3.14×108 m/s by Hippolyte Fizeau in 1848 and at 2.98×108 m/s by Léon Foucault in 1850. 
However, Weber and Kohlrausch did not make the connection to the speed of light. Towards the 
end of 1861 while working on part III of his paper On Physical Lines of Force, Maxwell 
travelled from Scotland to London and looked up Weber and Kohlrausch's results. He 
converted them into a format which was compatible with his own writings, and in doing so he 
established the connection to the speed of light and concluded that light is a form of 
electromagnetic radiation  

 The four equations we use today appeared separately in Maxwell's 1861 paper, On Physical Lines 
of Force:  

1. Equation (56) in Maxwell's 1861 paper is ∇ • B = 0. 
2. Equation (112) is Ampère's circuital law, with Maxwell's addition of displacement current. 

This may be the most remarkable contribution of Maxwell's work, enabling him to derive the 
electromagnetic wave equation in his 1865 paper A Dynamical Theory of the Electromagnetic 
Field, showing that light is an electromagnetic wave. This lent the equations their full 
significance with respect to understanding the nature of the phenomena he elucidated. 
(Kirchhoff derived the telegrapher's equations in 1857 without using displacement current, but 
he did use Poisson's equation and the equation of continuity, which are the mathematical 
ingredients of the displacement current. Nevertheless, believing his equations to be applicable 
only inside an electric wire, he cannot be credited with the discovery that light is an 
electromagnetic wave). 



 

3. Equation (115) is Gauss's law
4. Equation (54) expresses what 

the time-variant aspect of electromagnetic induction, but not the one induced by motion; 
Faraday's original flux law accounted for both.
aspect of electromagnetic induction, 
(D) in Maxwell's original equations as listed below. It is expressed today as the force law 
equation, F = q(E + v × B
Lorentz force, even though Maxwell derived it when Lorentz was still a young boy.

The difference between the B and the 
entitled On Faraday's Lines of Force
paper presented a simplified model of Faraday's work, and how the two phenomena were related. 
He reduced all of the current knowledg

Figure of Maxwell's molecular vortex model. For a uniform magnetic field, the field lines point outward from the 
display screen, as can be observed from the black dots in the middle of the hexagons. The vortex of each hexagonal 
molecule rotates counter-clockwise. The small green circl
molecular vortices. 

It is later clarified in his concept of a sea of molecular vortices that appears in his 1861 paper 
Physical Lines of Force. Within that context, 
weighted vorticity that was weighted for the density of the vortex sea. Maxwell considered 
magnetic permeability µ to be a measure of the density of the vortex sea. Hence the relationship, 
Magnetic induction current causes a magnetic current dens
analogy to the linear electric current relationship,
is electric charge density. B was seen as a kind of magnetic current of vortices aligned in their axial 
planes, with H being the circumferential velocity of the vortices. With 
density, it follows that the product of 
The electric current equation can be viewed as a convective current of 
linear motion. By analogy, the magnetic equation is an
linear motion in the inductive current along the direction of the 
current represents lines of force. In particular, it represents lines of 
The extension of the above considerations confirms that where 
necessarily follows from Gauss's law and from the equation of continuity of charge that 
i.e. B parallels with E, whereas H
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Gauss's law. 
Equation (54) expresses what Oliver Heaviside referred to as 'Faraday's law

variant aspect of electromagnetic induction, but not the one induced by motion; 
Faraday's original flux law accounted for both.[10][11] Maxwell deals with the motion
aspect of electromagnetic induction, v × B, in equation (77), which is the same as equation 

original equations as listed below. It is expressed today as the force law 
B), which sits adjacent to Maxwell's equations and bears the name 

, even though Maxwell derived it when Lorentz was still a young boy.
and the H vectors can be traced back to Maxwell's 1855 paper 

On Faraday's Lines of Force which was read to the Cambridge Philosophical Society
paper presented a simplified model of Faraday's work, and how the two phenomena were related. 
He reduced all of the current knowledge into a linked set of differential equations

   

vortex model. For a uniform magnetic field, the field lines point outward from the 
display screen, as can be observed from the black dots in the middle of the hexagons. The vortex of each hexagonal 

clockwise. The small green circles are clockwise rotating particles sandwiching between the 

It is later clarified in his concept of a sea of molecular vortices that appears in his 1861 paper 
. Within that context, H represented pure vorticity (spin), whereas 

weighted vorticity that was weighted for the density of the vortex sea. Maxwell considered 
to be a measure of the density of the vortex sea. Hence the relationship, 

causes a magnetic current density B = μ H was esse
the linear electric current relationship, (b) Electric convection current

was seen as a kind of magnetic current of vortices aligned in their axial 
being the circumferential velocity of the vortices. With µ

density, it follows that the product of µ with vorticity H leads to the magnetic field
The electric current equation can be viewed as a convective current of electric charge
linear motion. By analogy, the magnetic equation is an inductive current involving spin. There is no 
linear motion in the inductive current along the direction of the B vector. The magnetic inductive 
current represents lines of force. In particular, it represents lines of inverse-square law
The extension of the above considerations confirms that where B is to H, and where 
necessarily follows from Gauss's law and from the equation of continuity of charge that 

H parallels with D. 

referred to as 'Faraday's law', which addresses 
variant aspect of electromagnetic induction, but not the one induced by motion; 

Maxwell deals with the motion-related 
, in equation (77), which is the same as equation 

original equations as listed below. It is expressed today as the force law 
), which sits adjacent to Maxwell's equations and bears the name 

, even though Maxwell derived it when Lorentz was still a young boy. 
vectors can be traced back to Maxwell's 1855 paper 

Cambridge Philosophical Society. The 
paper presented a simplified model of Faraday's work, and how the two phenomena were related. 

differential equations.  

vortex model. For a uniform magnetic field, the field lines point outward from the 
display screen, as can be observed from the black dots in the middle of the hexagons. The vortex of each hexagonal 

es are clockwise rotating particles sandwiching between the 

It is later clarified in his concept of a sea of molecular vortices that appears in his 1861 paper On 
represented pure vorticity (spin), whereas B was a 

weighted vorticity that was weighted for the density of the vortex sea. Maxwell considered 
to be a measure of the density of the vortex sea. Hence the relationship, (a) 

was essentially a rotational 
Electric convection current J = ρ v where ρ 

was seen as a kind of magnetic current of vortices aligned in their axial 
µ representing vortex 

magnetic field denoted as B. 
electric charge that involves 

inductive current involving spin. There is no 
vector. The magnetic inductive 

square law force.  
, and where J is to ρ, then it 

necessarily follows from Gauss's law and from the equation of continuity of charge that E is to D. 
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From Wikipedia: 

Superfluidity is the characteristic property of a fluid with zero viscosity which therefore flows 
without loss of kinetic energy. When stirred, a superfluid forms cellular vortices that continue 
to rotate indefinitely. 
It is also a property of various other exotic states of matter theorized to exist in astrophysics, high-
energy physics, and theories of quantum gravity.[1] The phenomenon is related to Bose–Einstein 
condensation, but neither is a specific type of the other: not all Bose-Einstein condensates can be 
regarded as superfluids, and not all superfluids are Bose–Einstein condensates. 

Superfluid vacuum theory (SVT) is an approach in theoretical physics and quantum 
mechanics where the physical vacuum is viewed as superfluid. The ultimate goal of the 
approach is to develop scientific models that unify quantum mechanics (describing three of the four 
known fundamental interactions) with gravity. This makes SVT a candidate for the theory of 
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quantum gravity and an extension of the Standard Model. It is hoped that development of such 
theory would unify into a single consistent model of all fundamental interactions, and to describe all 
known interactions and elementary particles as different manifestations of the same entity, 
superfluid vacuum.  

 

Vortex-quantisation in a superfluid 

 

A superfluid has the special property of having phase, given by the wavefunction, and the velocity 
of the superfluid is proportional to the gradient of the phase (in the parabolic mass approximation). 
The circulation around any closed loop in the superfluid is zero if the region enclosed is simply 
connected. The superfluid is deemed irrotational; however, if the enclosed region actually 
contains a smaller region with an absence of superfluid, for example a rod through the 
superfluid or a vortex, then the circulation is: 

 

where ℏ is Planck's constant divided by 2π, m is the mass of the superfluid particle, and Δtot ϕv is the 
total phase difference around the vortex. Because the wave-function must return to its same 
value after an integer number of turns around the vortex (similar to what is described in the 
Bohr model), then Δtot ϕv = 2πn, where n is an integer. Thus, the circulation is quantized: 

 

 

See paper: “Bose-Einstein condensation of photons in an optical microcavity” - 
https://arxiv.org/ftp/arxiv/papers/1007/1007.4088.pdf ),  

For  m = 6.7 * 10-36 kg  e  

  from the  
ଶగℏ

௠
𝑛 

We have:  for n = 1     0,9889656 * 102 ,  for n = 2    1.9779312 * 102 , thence the two 
values 98,89656 and 197,79312  

We carry out the following double integrals: 

(1/(12e)) * 1.08643 * integrate integrate [98.89656] 

 

Result: 
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Plot: 

 

 

a result very near to the value of the mass of the proton  

 

(1/(24e)) * 1.08643 * integrate integrate [197.79312] 

 

Result: 

 

Plot: 

 

 

also this result is very near to the value of the mass of the proton  

 

 

 

 

 

From: 
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We carry out the following double integral on (29). We have: 

(2/(3e)) * 1.08643 * integrate integrate [4Pi] 
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Result: 

 

Plot: 

 

Open code 

 

value very near to the value of the mass of the neutron 

 

From: 

 
Vortices on world sheets of strings and superstrings 
A. A. Abrikosov, Jr. and Ya. I. Kogan 
Institute of Theoretical and ExperimentaIPhysics 
(Submitted 15 January 1989) 
Zh. Eksp. Teor. Fiz. 96,418-436 (August 1989) 
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We take the value of  
ଵ

ଶ
𝜋ିଵ = 0.63661977 …  and carry out the following double 

integral: 

(Pi^2*sqrt(2))/30 *(1/10^18)) * 1.08643 * integrate integrate [(Pi/2)^-1)]    

where (π2√2)/30, Korkin-Zolotarev constant 

 

Result: 

 

Plot: 

 

 

value very near to the electric charge of the positron 

 
 
 
From: 
 
Rotating black strings in f(R)-Maxwell theory 
A. Sheykhi, S. Salarpour  and Y. Bahrampour  
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From the eq. (28), we obtain: 

  

Q = (2.25 * 1) / 4ℼ*1*√(1+1) =  0,12660698195959304103119988623532;  

We calculate the following double integral for Q: 

7Pi * 1.08643^2 * integrate integrate [0.12660698195959304103119988623532] 



37 
 

 

Result: 

 

Plot: 

 

Or: 

(24) * 1.08643 * integrate integrate [0.12660698195959304103119988623532] 

 
Result: 

 

Plot: 

 

values very near to the mass of the proton. 

 

And: 

(53Pi*11) * 1.08643 * integrate integrate [0.12660698195959304103119988623532] 

 

Result: 

 

value practically equal to the value of the mass of the Higgs boson 
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Plot: 

 

Where 53 is a prime number and is the sum of five prime numbers  

53 = 5 + 7 + 11 + 13 + 17. 

Then: 

(Q)1/5 = 0,66144163923697434151492565583228 

(Q)1/5 * (10)2/5 = 0,66144163923697434151492565583228 * 
2,5118864315095801110850320677993 = 1,6614662788348105459451448294251 

Now, we calculate the following double integrals of this result: 

1/(10^19) e*(0.6530256) * 1.08643 * integrate integrate [ 
1.6614662788348105459451448294251] 

 
Result: 

 

Plot: 

 

 

and: 

1/(10^-33) * 1/(10^52) * e*(0.64180256) * 1.1056 * integrate integrate [ 
1.6614662788348105459451448294251] 
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Result: 

 

Plot: 

 

 

values practically equals to the electric charges of the positron 

 

Note that we have calculated the first double integral with the “Ramanujan new 
constant”, while the second double integral with the value of Cosmological Constant 
given the Planck (2018), where Λ has the value of   

                                            

or:    4.33×10−66 eV2 in natural units. Thus, look evident that the Ramanujan new 
constant is a good approximation of the Cosmological constant, perhaps also more 
precise than the given value from Planck satellite, being the result of precise 
mathematical calculations of a inspired genius. 

 

We note that the eq. (3), i.e.  

                                                            

is the fundamental following Maxwell’s equation, i.e. the Gauss’ law for magnetism: 

                                                            

Or in integral form 
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Thence, evident mathematical connections between this Maxwell’s equation and the 
charge of black strings (charged rotating black holes). 

Now from the eq. (30) concerning the electric potential: 

 

U = 1 / (1.25 * 0.7) √3 =  

1,1428571428571428571428571428571 * 1,7320508075688772935274463415059 = 

= 1,979486637221574049745652961721 

Now we calculate the following integral: 

(Pi*(ln1.606695)) * 1.08643 * integrate integrate 
[1.979486637221574049745652961721] 

where 1.606 695 is the “Erdös - Borwein constant” 

 

Result: 

 

Plot: 

 

Now, we calculate the following double integral: 

(11Pi^2) * 1.08643^2 * integrate integrate [1.979486637221574049745652961721] 

 

Result: 
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Plot: 

 

 

results very neat to the electric charge of positron and to the mass of the Higgs boson. 

 

Maxwell’s equation concerning the Gauss’ law in differential and integral form:  

    

 

From: 

ELEVEN-DIMENSIONAL SUPERGRAVITY ON A MANIFOLD WITH 
BOUNDARY 
Petr Horava - Joseph Henry Laboratories, Princeton University - Jadwin Hall, 
Princeton, NJ 08544, USA and Edward Witten⋆ School of Natural Sciences, 
Institute for Advanced Study * Olden Lane, Princeton, NJ 08540, USA 
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Note that:  3456 = 1728 * 2   and that   √ଶ

ଷସହ଺
=

ଵ

ଵ଻ଶ଼√ଶ
 

From Polchinski book “String Theory vol. I”, we have that: 

 

Thence:    (8ℼGN)1/2 = κ = (2.43 * 1018 GeV)-1 = 4,115226337448 * 10-19;   

and  κ2 = 1,693508780843 * 10-37 . 

We have that: 

 

 

−
1

2
−

1

2
−

1

48
−

√2

192
−

12√2

192
−

√2

3456
= 

=
−1728 − 1728 − 72 − 18√2 − 216√2 − √2

3456
= 

=
1728

3456
−

1728

3456
−

72

3456
−

18√2

3456
−

216√2

3456
−

√2

3456
= 

-3860,34018656 / 3456 = – 1,11699658 

1 / κ2 =  5,9049 * 1036       that multiplied to – 1,11699658 =  – 6,59575311 * 1036  

Now the gravitational coupling is: 
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In the paper “INTRODUCTION TO STRING THEORY∗ version 14-05-04 

of Gerard ’t Hooft”  α’ appeared to be universal, approximately 1 GeV-2 . Thence: 

g2 = 8ℼ (1,751751596 * 10-45) = 4,40263196 * 10-44;  g = 2,09824497 * 10-22; 

√g = 1,44853201 * 10-11. 

Now, we calculate the following integral: 

5.9049 * (10^36)  integrate [(1.44853201 * 10^-11)*(-1.11699658)] x 

 
Result: 

 
 
Plot: 

 
 
 
 
Indefinite integral assuming all variables are real: 

 
 

Now: 
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(1/10^54) * 1.08643^2 * 5.9049 * (10^36)  integrate [(1.44853201 * 10^-11)*(-
1.11699658)] x, [0, 34/(2Pi)] 

 
Result: 

 
 

This results is a good approximation to the value of the mass of the anti-proton. 

We note that: 

                        

is equal to  

 
Result: 

 
 

Now, we calculate the following double integral: 

(1*10^-52) * (2*0.618)^3 * 1.08643  integrate integrate [-4.77708*10^25] 

 
Result: 

 
 

Plot: 
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Indefinite integral assuming all variables are real: 

 
 
 

Also this result is a good approximation of the value of the mass of the anti-proton. 
 

Now: 

“Ramanujan – Twelve lectures on subjects suggested by his life and work” – by 
G. H. Hardy – Cambridge at the University Press - 1940 

 

 

We have that  Q = 241,  P = -23   Q – P2 = 241 – 529 =  – 288  

Q3 – R2  = (1 + 240)3 – (1 – 504)2 = 13997521 – 253009 = 13744512; 

Where  13744512 = 1728 * 7954;  1728 * 7954 = 13744512;   

1728 = 13744512 / 7954  
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We calculate the following integral: 

integrate [13744512] x, [0, 1/(1.644934^13*Pi)] 

 

where 1,644934 = ζ(2) = ℼ2/6 

And the following double integral: 

1/(10^34) * 1.08643 * (Pi/sqrt(2))  integrate integrate [13744512]  

 
Result: 

 

 

Plot: 

 
  

Results that are very near to the value of the mass of the proton. 

From: 

INTRODUCTION TO STRING THEORY 
version 14-05-04 - Gerard ’t Hooft 
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We note that:    

1152 / 288 = 4    12166272 / 288 = 42244   200448 / 1728 = 116      

3345408 / 1728 = 1936;   where   288 * 6 = 1728 

We calculate the following double integral: 

1/(10^22) * 1.08643^2 * (Pi/2)  integrate integrate [1728] 

 
Result: 

 

Plot: 

 

 



49 
 

 

And: 

1.08643  integrate [1728] x, [0, Pi/((1.618)^9)] 

Definite integral: 
 

 
 

results very near to the values of the electric charges of the positron. 

Now we take some parts of the following very interesting paper: “RAMANUJAN’S 
UNPUBLISHED MANUSCRIPT ON THE PARTITION AND TAU FUNCTIONS 
WITH PROOFS AND COMMENTARY -  Bruce C. Berndt and Ken Ono” 
 
 
 

 
 
 
We take: 
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Now: 

                                   
where 

                                 
 
We note that:     Q = 1 + 240 = 241;      R = 1 – 504 = – 503;  thence 
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Q3 – R2 = 2413 – (– 5032) = 13997521 – 253009 = 13744512; 
 
We have that:   13744512 / 1728 = 7954;   thence  𝑞(𝑞; 𝑞)ஶ

ଶସ = 7954.  Indeed: 
 
13744512 = 1728 * 7954. 
 
Now, we calculate the following double integral: 
 
1/(10^33) * 1/((sqrt(e))^3) * 1.08643 * integrate integrate [13744512] 
 

 
 
Result: 

 
 

 
Plot: 

 
 

results that is a good approximation to the mass of the proton. 
 

 
 
We note that 288 / 144 = 2 and that 288 * 6 = 1728   and  1728 / 144 = 12 
 

 
We note that 1008 / 144 = 7 
 
We have: 
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We note that 720 / 144 = 5;        1728 / 288 = 6  
 
Then:  R = 1 + 7J;  for R = - 503;   1 + 7J = - 503;   7J  = - 504;  J = - 504 / 7 = - 72. 
 
Q2 = P – 504;  P – 504 = Q2;  P = Q2 + 504 = 2412 + 504 = 58585;   
 
PQ – R = 58585 * 241 - (- 503) = 14118985 + 503 = 14119488;    
 
Indeed:  720 * 19610,4 = 141194888; 
 
P3 – 3PQ + 2R = 201075567351625 – 3(14118985) – 1006 = 201075524993664; 
 
Indeed:  -116363151038 * -1728 = 201075524993664 
 
Now, we calculate the following double integral: 
 
1.1056^2 * 1/(10^40) * 1/(e)^2  integrate integrate [201075524993664] 
  
where 1.1056 is the value of the cosmological constant (Planck 2018) 
  

 
 
Result: 

 
 
Plot: 
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value that is a excellent approximation to the value of the mass of the proton 
 
Now: 
 

 

 
We have that: 
 
5 * 2413 + 4 * (-503)2 – 18(58585*241* -503) + 9(585852 * 2412) =  
 
= 69987605 + 1012036 + 127833290190 + 1794111636872025 = 

= 1794239541161856.   We have that  

1038333067802 * (8640/5) = 1794239541161856  and 1728 * 5 = 8640 

Now, we calculate the following double integral, where -0.165421 is ζ'(-1): 

1/(10^33) * (-0.165421) * 1.08643 * integrate integrate [1794239541161856] 

 
Result: 

 
Plot: 
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results that is a good approximation to the value of the electric charge of the electron. 

Now: 

 

585852 * (-503) – 2(58585)(241)2 + 241* (-503) =  

= 1726397719175 – 6805350770 – 121223 = 1719592247182: 

We have that - 995134402,304398148 *  - 1728 = 1719592247182  

Now, we calculate the following double integral: 

1.08643^2 * 1/(10^37) * 1/(4e^e)  integrate integrate [1719592247182] 

 
Result: 

 
Plot: 

 

results that is practically equal to the value of the mass of neutron. 
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And: 

 

Where  – 248832 / 1728 = – 144 

Thence: 

-(9*2413 + 16*(-503)2) = -(125977689 + 4048144) = - 130025833 

-248832 * 522,54466065457818930041152263374 = - 130025833 

(1728 * (-144)) * 522,54466065457818930041152263374 = - 130025833. 

 

Now, we calculate the following double integral: 

 

 

1.08643^2 * 1/(10^25) * 1/(Pi*e^e)  integrate integrate [-130025833] 

 
Result: 

 
Plot: 



56 
 

 

value that is an excellent approximation to the electric charge of the electron. 

Now: 

 

6*585852 * 241 – 8*58585*(-503) + 3*2412 – 585854 =   

= 4962964417350 + 235746040 + 174243 – 11780012113294950625 = 

= -11780007150094769992 

(4*1728) * -1704283441853988,7141203703703704 = -11780007150094769992 

Now, we calculate the following double integral: 

1.08643^2 * 1/(10^36) * 1/(Pi^2*1.61803398*e)  integrate integrate [-
11780007150094769992] 

 
Result: 

 
Plot: 

 

value that is an excellent approximation to the electric charge of the electron. 

 
From: Canad. Math. Bull. Vol. 42 (4), 1999 pp. 427–440 
“Ramanujan and the Modular j-Invariant” - Bruce C. Berndt and Heng Huat Chan 

Now, we have the following Ramanujan function: 
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We have: 

J35 = 15,3262379;  and 

t35 = (2*121,1377674149 – 117 – 125,219806739)1/6 = (0,0557280908)1/6 =     

     = 0,618033990227 = (√5 – 1) / 2  

For   

 

we have:  1728 * 15,3262379 = 26483,7390912 

We calculate the following double integral: 

 

1.08643^2 * 1/(10^20) * 1/(Pi^6)  integrate integrate [26483.7390912] 

 
Result: 

 
Plot: 
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result that is a good approximation to the value of the electric charge of the positron. 

 

 

 

We have that:  63 + 26√5 = 121,13776741499453210663851538701; 

Note that (121,1377674149)1/10 = 1,61557809657...  

We calculate the following double integral: 

1.08643^2 * 1/(10^20) * 0.226  integrate integrate 
[121.13776741499453210663851538701] 

where 0.225791 = log(sqrt(π/2) = 0.226 

 
Result: 
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Plot: 

 

 
result that is a good approximation to the electric charge of the positron. 

 

From: “On Faraday’s Lines of Force” – J.C.Maxwell (From the Transactions of the 
Cambridge Philosophical Society, VoL x. Part I) - [Read Dec. 10, 1855, and Feb. 11, 
1856.] 
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We calculate the following triple integrals before of 4ℼ and after of 4ℼpρ for the 
values of 0.618 and 3 for p and ρ. We obtain: 
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(1/10^12 )* 1.08643 * integrate 12.56637(x,y,z) dx dy dz, x=0..Pi/253.8 
y=0..Pi/253.8  z=0..Pi/253.8 

Input interpretation: 

 

Result: 

 

Or: 

3/(2e) * 1/(10^20 )*1.08643 * integrate (12.56637*0.618*3)(x,y,z) dx dy dz, 
x=0..Pi/253.8 y=0..Pi/253.8  z=0..Pi/253.8 

 
Result: 

 

 

Results that are very near to the values of the electric charge of the positron and of 
the mass of the proton. 
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Formula for magnetic sphere flow density 

Formula for the field B on the symmetry axis of a magnetic sphere axially 
magnetized: 
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𝐵 = 𝐵௥

2

3

𝑅ଷ

(𝑧 + 𝑅)ଷ
 

Br: remanence field, independent of the magnet geometry 

z: distance on the axis of symmetry from the edge of the sphere 

R: half the diameter (radius) of the sphere 

The unit of length measurement can be chosen at will, as long as it is the same for all 
lengths. For R = 26, Grade = N42, z = 3 we have a flow density of 0.618 T 

From the equation: 

 

For a magnetic density of 0,618 T and a magnetic potential of 3V, we calculate the 
following triple integral: 

1.08643 * integrate (0.618*3)(x,y,z) dx dy dz, x=0..1.129 y=0..1.129  z=0..1.129  
where 1.129 = 1.630471/4 

Input interpretation: 

 

Result: 

 

result that is a good approximation to the value of the mass of the proton. 

From the equation of the total potential of the system on itself: 

 

 

for a magnetic density of 0.031416 T and a magnetic potential of 1.571V, we have 
the following triple integral: 

1.08643 * integrate ((0.06*1.5)-(0.07957))(x,y,z) dx dy dz, x=0..4.1 y=0..4.1  
z=0..4.1   where 4.1 = 1.600520633   

Input interpretation: 

 

Result: 
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or: 

1.08643 * integrate ((0.06*1.5)-(((0.07957)*αa+βb+γc)))(x,y,z) dx dy dz, x=0..4.1 
y=0..4.1  z=0..4.1 

Input interpretation: 

 

 

where 153.5(– 0.07957aα) = – 12.213995aα  and  153.5(0.09) = 13.815   for which :  

  – 12.213995aα – 153.5bβ – 153.5cγ + 13.815 = 1.601005    

(putting aα = 1, bβ = 1 e cγ = – 1) 

The result is very near to the value of the electric charge of the positron. 

From: 

[From the Philosophical Magazine, Vol. xxi.] - XXIII. J.C.Maxwell 
“On Physical Lines of Force”. 
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thence: 
 

𝑝 =
1

4𝜋
൬

𝑑𝛾

𝑑𝑦
−

𝑑𝛽

𝑑𝑧
൰ 

 
Calculate the following double integral:                    
 
13e * 1.08643^2 * integrate integrate [1/(4Pi)] 
 
[d(γ/y – β/z)]  13e * 1.08643^2  * integrate integrate [1/(4Pi)] 
 

 
 

 
 
Result: 

                  
Result: 

 

 

Plot: 

 

result that is very near to the value of the mass of the proton. 
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𝐸 =
1

8𝜋
𝜇(𝛼ଶ + 𝛽ଶ + 𝛾ଶ) 

 
 
Now calculate the following double integral: 
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26e * 1.08643^2 * μ(α^2+β^2+γ^2 ) integrate integrate [1/(8Pi)] 
 

 
 
Result: 

 

result that is very near to the value of the mass of the proton. 
 
Now: 
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So E2 is a coefficient dependent on the nature of the dielectric, m = 6 the coefficient 
of rigidity, and μ = 5 the cubic elasticity coefficient. By performing the following 
double integral on E, we obtain: 
 
(e/4) *1.08643  integrate integrate [sqrt(6*Pi)]     
 
where  e/4 = 0.67957  but we can also utilize the “Body-centered cubic” that is equal 
to  0.680174 = (π√3)/8  
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Result: 

 

 

Plot: 

 

 

or: 

((π√3)/8 ) *1.08643  integrate integrate [sqrt(6*Pi)] 

 

Result: 

 

Plot: 

 

 

results that are very near to the values of the electric charge of the positron. 
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Then:    

- 4ℼE2 = - 236,8705 taken from (111) which shows that when the electromotive force 
changes, the electric displacement also varies.   

 e = 1 / 4ℼE2 = 1 / 236.8705 = 0.0042217 taken from (115) which shows the 
equations of electric currents due to the effect due to the elasticity of the medium. 
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We calculate the following double integral for:   – 4ℼ * ℼm = - 236,8705    

(e/216) *1.08643  integrate integrate [-(4*Pi)*6Pi] 

 

 
Result: 

 

Plot: 

 

 

Now for 1/4ℼE2  =  1/236,8705 = 0,0042217    

(260e) *1.08643  integrate integrate [1/(4*Pi*6Pi)] 

 

 
Result: 

 

Plot: 

 

 

results that are very near to the values of the charges of the electron and positron. 
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Or also: 

 (264e) *1.08643  integrate integrate [1/(4*Pi*6Pi)] 

 
Result: 

 

Plot: 

 

result that is very near to the value of the mass of the proton. 
 

Now: 
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We note that μ = 1,   m = (310740000000^2)/Pi = 3,07357949E22 

for μ = 5,   m = ((310740000000^2)*5))/Pi = 1,53678975*1023   

      ρ = 1.591549430918954 

V = √9,65593478E22 = 310.740.000.000 = 310.740.000.280,3659973 

Calculate the following double integrals for 1,53678975*1023 , for 
1.591549430918954 ,  for 155370000000, and for  310740000000 
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1/(2*10^40) * 1/(26) * 1.08643 * integrate integrate [1.53678975*10^23] 

 
Result: 

 

Plot: 

 

1/(2*10^25) * 1/(26) * 1.08643 * integrate integrate [1.591549430918954] 

 

Result: 

 

Plot: 

 

 

1/(10^36) * (sqrt(6)/4)^8 * 1.08643 * integrate integrate [155370000140.18299865] 

dove “(√6)/4 = Circumradius sphere, congruent with vertices (Tetrahedron)” 

 
Result: 

 



80 
 

Plot: 

 

 

1/2 * 1/(10^36) * (sqrt(6)/4)^8 * 1.08643 * integrate integrate 
[310740000280.3659973] 

 
Result: 

 

Plot: 

 

 
 

Also these results are excellent approximations of the proton mass. Recall that when 
a proton collides with an antiproton, one of the valence quarks that constitute it can 
annihilate itself with an antiquark, while the remaining quarks will rearrange into 
mesons. The mesons created are a group of subatomic particles composed of a quark 
and an antiquark bound by the strong force. They are unstable particles and typically 
decay into photons or leptons. This means that the light, hence the electromagnetic 
waves concerning the Maxwell's equations, seems to have a fermionic origin 
(electron-positron / proton-antiproton annihilation), also if it consists of photons 
(bosons). In fact this is only the logical consequence of the formalization of the 
Einstein’s equation E = mc2 in which the energy is closely connected with the mass, 
and which is closely related also to the Maxwell’s equations. In the our proposal, it is 
the mass that becomes energy, which in turn, following at the various breaks of 
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symmetry, returns mass, in an cycle eternal in the time and infinite in the space. This 
is a further try to support of the theory of a cyclical oscillating universe (or eventually 
also a multiverse). But the most extraordinary thing is the possibility that the universe 
itself, which has neither beginning nor end, was born as a wave-particle of infinite 
density and energy (wave function of universe-model "no-boundary proposal" of 
S.W. Hawking). 
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Putting that R is equal to the Gravitational universal constant, that is  

G = 6,67 × 10−11 N m² / kg² . We obtain:  

𝐸 =
1

8𝜋
∙ (6,674 × 10ିଵଵ)ଶ = 1,77228085 × 10ିଶଶ 

Now calculate the following double integral: 

(0.63894^4) * 10^4 * 1.08643 * integrate integrate [(1.77228085) *(10^-22)] 

 
Result: 
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Plot: 

 

 
 
result that is very near to the value of the electric charge of the positron. 
 

 

From: 

A TREATISE ON ELECTRICITY AND MAGNETISM 
BY JAMES CLERK MAXWELL,  
M.A - LLD. EDIN., P.E.SS. LONDON AND EDINBURGH HONORARY FELLOW 
OF TRINITY COLLEGE, AND PROFESSOR OF EXPERIMENTAL PHYSICS IN 
THE UNIVERSITY OF CAMBRIDGE VOL. I AT THE CLARENDON PRESS 1873 
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From: 

ELETTROMAGNETISMO 
PARTE II - POTENZIALE ELETTRICO 
ESERCIZI SVOLTI DAL PROF. GIANLUIGI TRIVIA 

 

 

From the example above, considering the charge of an electron, then q = 1.6 * 10-19 
and the radius of the sphere of 1cm, remembering the coulomb constant, whose value 
is:   

 

from the formula of the potential energy electric  

 

that in our case is: 𝑉 = 𝑘଴
௤

௥
 , we have: 

𝑉 = 𝑘଴

𝑞

𝑟
=

8.99 ∙ 10ଽ𝑁𝑚ଶ𝐶ିଶ ∙ 1.602 ∙ 10ିଵଽ𝐶

0.01𝑚
= 1,440198 ∙ 10ି଻ 
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Now we take the equation (9): 

 

where Q represents the potential energy of a certain distribution of electricity. We 
have, for Q = 1,440198 ∙ 10ି଻ ,   8ℼQ = 3,61961236 * 10-6 .  

We proceed to carry out the following double integration on the value obtained. We 
have: 

1/(10^9) * ((0.61803398/(0.66482^3)) * 1.08643 * integrate integrate [(3.61961236) 
*(10^-6)] 

 

Result: 

 

Plot: 

 

   

 

Now we take the following example:  
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Now, we calculate the following double integration, for Q = 2.54 * 106 V. We have: 

1/(10^35) * (1.6156351)^10 * 1.08643 * integrate integrate [(2.54) *(10^6)] 

 
Result: 

 

 

Plot: 

 

result that is very near to the value of the mass of the proton. 
 

or: 

1/(10^21) * (3) * 1.08643 * integrate integrate [(2.54) *(10^6)] 



89 
 

 
Result: 

 

Plot: 

 

 

Finally, taking into account also 8Pigreco, we have: 

1/(10^53) * (1.6156351)^128 * 1.08643 * integrate integrate [8*Pi*(2.54) *(10^6)] 

 
Result: 

 

Plot: 

 

 

result that is very near to the value of the electric charge of the positron. 
 

Now: 

 

We note that 
ଵ

଼గ
+

ଵ

଼గ
=

ଶ

଼గ
= 0,079577471545947. Now we calculate the following 

double integral: 
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1/(10^26) * (1.645)^e) * 1.08643 * integrate integrate [(1/(8Pi)+(1/(8Pi)] 

 

 

 
Result: 

 

Plot: 

 

result that is very near to the value of the mass of the proton. 
 

and: 

 

We have the following double integral: 

1/(10^26) * (1.63358)^4) * 1.08643^2 * integrate integrate [(1/(8Pi)] 

 

Result: 
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result that is very near to the value of the mass of the proton. 
 

or: 

1/(10^13) * (0.6359)^(1/-0.8) * 1.08643^2 * integrate integrate [(1/(8Pi)] 

 
Result: 

 

Plot: 

 

 

 

Now: 
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Now, we analyze 

 

Where Aa = 1.602 * 10-19 for a = 1 and B = -1.602 * 10-19 where A and B are the 
potentials, a = 1 and b = 2 are the radii of a solid sphere and a hollow sphere 
respectively. We have: T = 8.16911766 * 10-39 which represents the electric tension. 
We calculate the following double integration: 

 

(10^11) * ((2*1.6305*(Pi)/(e)) * 1.08643 * integrate integrate [(8.16911765)*(10^-
39)] 

 

Result: 
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Plot: 

 

result that is very near to the value of the mass of the proton. 
 

Now, for: 

 

We have  A2 = 4,1062464 * 10-37;  A = 6,408 * 10-19. We calculate the following 
double integral: 

1/10 * ((4Pi)/(e)) * 1.08643 * integrate integrate [(6.408)*(10^-19)] 

 
Result: 

 

Plot: 

 

result that is very near to the value of the electric charge of the positron. 
 

Now, let's take the potential of the previous example Q = 2.54 * 106 V  
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From (39), we obtain, putting c = 1:  Q =  2.54 * 106 / 1,5707963… = 1617014,22181 

We calculate the following double integral: 

(1/((10^2)* (24*e*26*Pi)) * 1.08643 * integrate integrate [1617014.22181] 

 

 
Result: 

 

Plot: 

 

 

result that is very near to the value of the mass of the proton. 
 

From (38) for c = 5  ed  r = 3, we have:  σ = 2.54 * 106 / 9.8696044 * 4 = 64338,95  
and  Q = 8085071,109 

We calculate the following double integrals: 
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1/(10^34)* (5*e*11*Pi)) * 1.08643 * integrate integrate [64338.95] 

 
Result: 

 

Plot: 

 

 

1/(10^36)* (4*e*11*Pi)) * 1.08643 * integrate integrate [8085071.109] 

 
Result: 

 

Plot: 

 

 

result that is very near to the value of the mass of the proton. 
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We recall that from the mathematical point of view, a reference ellipsoid is usually an 
oblate (flattened) spheroid whose semi-axes are defined: equatorial radius (the major 
semi-axis a) and polar radius (the minor semi-axis b). 

For A = 3 and B = 5, we have:  

Ln((3+sqrt(-16))/10) 

 

 

 

 

γ = -1,5530236   and for c =1, V = 2.54 * 106    

Q = 1635519,2541826151257456744379158 = 1635519,25 

We calculate the following double integral:  

(1.7323726*10^-6) * 1.08643^2 * integrate integrate [1635519.25] 

(sqrt(3)*10^-6) * 1.08643^2 * integrate integrate [1635519.25] 

   * 

 
Result: 

 

Result: 

 

result that is very near to the value of the mass of the proton. 
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Plot:                                                                       * 

 

 

 We now analyze, always for V = 2.54 * 106   and  a = 1: 

 

 

We have that the  uniform surface-density”, is:  σ = (2.54 * 106 ) / 4ℼ = 202126,77.   
We calculate the following double integral: 

(1/10^24) * 4/e * 1.08643 * integrate integrate [202126.77] 

 
Result: 

 

Plot: 

 

 

result that is very near to the value of the electric charge of the positron. 
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Now we analyze the two equations of the electric charges putting α = 1, β = 2  and  γ 
= 3: 

 

  

We have the following two double integrals: 

(1/(3*10^18)) * 1.08643 * integrate integrate [-1/(sqrt(1+(1/4))] 

 

Result: 

 

Plot: 

 

result that is very near to the value of the electric charge of the electron. 
 

(1/(2.826419*10^26)) * 1.08643 * integrate integrate [1/(sqrt(1+(1/4)+(1/9))] 

where 2.826 419 is the “Murata's constant” that is obtained by the following 
asymptotic formula: 
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Result: 

 

 

Plot: 

 

result that is very near to the value of the mass of the proton. 
 

In conclusion: 

 

 

(1/(2.826419*10^18)) * 1.08643 * integrate integrate [1/(sqrt(1+(1/4)+(1/9)+(1/16))] 

 

Result: 
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Plot: 

 

 

For δ = 5, we obtain: 

(1/(2.826419*10^18)) * 1.08643 * integrate integrate [1/(sqrt(1+(1/4)+(1/9)+(1/25))] 

 

Result: 

 

Plot: 

 

 result that is very near to the value of the electric charge of the positron. 
 

Now: 
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Recall that in electromagnetism the density of electric current is the vector whose flow through a 
surface represents the electric current that passes through that surface  λ 
 

 

We have that:  for a = 1  and  b = 2, σa = 0,065449  σb = 0,03978873 ed Ea = 
0,822468 

We calculate the following double integral on  Ea = 0,822468  

(16Pi)/(5e) * 1.08643 * integrate integrate [0.822468] 
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Input interpretation: 

 

Result: 

 

Plot: 

 

 

and then on σa = 0,065449: 

5*(3Pi) 1.084 * integrate integrate [0.065449] 

 

Result: 

 

Plot: 

 

and on σb = 0,03978873 

(24Pi) 1.08643 * integrate integrate [0.03978873] 

 

Result: 
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Plot: 

 

 

result that is very near to the value of the mass of the proton and to the electric charge 
of the positron. 
 

Now: 

 

 

 

Thence, for f = 8, a = 3, r = 2  and for V = 2.54 * 106 volt , we have: 
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σ = 1124399,10468 

(2.54 * 106)/2*8ℼ2 [√(64 – 9) / (9 – 4)  - tan-1 √(64 – 9) / (9 – 4)] = 

= (2540000/157,91367) * [3,31662479 – tan-1 (3,31662479)] = 

= 16084,7379457 * (3,31662479 – 73,22134511) =  

=16084,7379457 * (– 69,90472032) = – 1124399,107514  

Now we calculate the following double integral: 

(1/(5*262*34e*Pi)) * 1.08643 * integrate integrate [– 1124399.107514 ] 

where 262 =  233 + 21 + 8,   5 e 34  are Fibonacci’s numbers 

 

Result: 

 

Plot: 

 

result that is very near to the electric charge of the electron. 
 

From: 

Maxwell, James Clerk (1873), A treatise on electricity and magnetism Vol II, 
Oxford : Clarendon Press 
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For X = 5, M = 1000, L = 3  e  D = 5, we have  I’ = 409.6  and  I = 837  (here are all 
magnetic forces and magnetizing force, concerning the induced magnetism) 

We calculate the following double integral: 

(0.6629)^12 * 1.08643 * integrate integrate [409.6 ] 

 
Result: 

 

Plot: 
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and: 

((0.6453)^8)* 1/4 * 1.08643 * integrate integrate [409.6] 

 

Result: 

 

Plot: 

 

 

result that is very near to the value of the mass of the proton and to the electric charge 
of the positron. 
 

For I = 837, we have: 

(0.62458)^12 * 1.08643 * integrate integrate [837] 

 

Result: 

 

Plot: 

 

and: 

(0.6497312)^13 * 1.08643 * integrate integrate [837] 
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Result: 

 

Plot: 

 

result that is very near to the value of the mass of the proton and to the electric charge 
of the positron. 
 

In the case of air, the electrical permittivity is εr = 1,000 59, approximated to 1 which is the value 
assigned to the relative dielectric constant in vacuum. Air is the only physical medium that is in fact 
assimilated to empty space. Normally the electrical permittivity is indicated with the symbol ε, and 
its value is usually written as a product ε = εr ε0 of the relative permittivity εr of the permittivity of 
the void ε0 also called dielectric constant of the vacuum. The dielectric constant of the vacuum or 
electrical permittivity of the vacuum is the characteristic electric permittivity of the vacuum, in 
which the electrical susceptibility is null and there is no polarization phenomenon. Its value is: 
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We have the following value for the magnetic force: B = 10-2 T = 0,01 . Thence, for 
the normal triple integral, we obtain: 

 

Result: 

 

We calculated the following double integral of the result 3,97887 * 10-6 : 

(1/10^21)(0.768225) * 1.08643 * integrate integrate [3.97887*10^-6] 

 

Result: 

 

Plot: 
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result that is a good approximation to the value of the mass of the proton. 
 
We note that 0,768225 is  Γ(1/4)/( 2π3/4); one of four values found by Ramanujan! 
Indeed, we have that (from: “Theta-function identities and the explicit formulas 
for theta-function and their applications” - Jinhee Yi - 
https://core.ac.uk/download/pdf/82662862.pdf) 
 

 

that is equal to   
ଶయ/ర

√ଶ
ర

ାଵ
=

ଵ,଺଼ଵ଻ଽଶ଼ଷ଴…

ଵ,ଵ଼ଽଶ଴଻ଵଵହ…ାଵ
= 0,76822 … 

We can write the expression also as follow: 

(1/10^21)((2^(3/4))/((2^(1/4))+1)) * 1.08643 * integrate integrate [3.97887*10^-6] 

 
Result: 

 

 

From the same integral, multiplied 10-21, the constant 1,08643 and 0.618033982 i.e. 
the square of the golden ratio conjugate, we obtain:  

(1/(10^21)) * 1.08643 * (0.61803398)^2 * 1/(8Pi) * integrate [0.0001] dx dy dz 

 

Result: 

 

A result very near to the mass of proton. 
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Now, we have the following potential Ω’ = 2.54 * 106 volt  

Now, we calculate the following integral from 0 to ℼ, multiplied 10-26 and the 
constant (1,08643)3 : 

1/(10^26) * 1.08643^3  * - integrate [2540000]  z,[0, Pi] 

 

Result: 

 

And also with the following double integration, we obtain: 

1/(10^25) * 1.08643^3  * -( integrate integrate [2540000]) 

 
Result: 

 

 

 

Plot: 

 

result that is a good approximation to the value of the electric charge of the electron. 
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We put that the disk have ω = 0,3456 rad/s , R =  σ/2ℼ = 0,1591549 for σ = 1 and that 
P’ is equal to: 

-integrate [2540000]  x, [0, Pi] 
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Indefinite integral: 
 

 

(we take the value of the indefinite integral) 

Thence, Q is equal to: 

integrate [((0.3456* (-1270000))/(0.1591549)]   

 

Now, we calculate the following integral double: 

1.08643^2 * integrate integrate [((0.3456* (-1270000))/(0.1591549)]   

(1/10^25) * 1.08643^2 * integrate integrate [((0.3456* (-1270000))/(0.1591549)]   

 

Result: 

 

Plot: 

 

 

It is very significant the result that is a value very near to the charge of the electron. 

 

Now: 
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The radius of the sphere is  a , N is the whole number of windings, S is the area of the 
closed curve and γ’ is the current. If γ’ = 0,5  N = 496  S = ℼ * 52 = 25ℼ  a = 8 , we 
have: 

                              𝑍 =
଼గ

ହ∙଺ସ
∙ 496 ∙ 25𝜋 ∙ 0,5 = 1529,788     

Now, calculate the following integral: 

(1/10^29)*13/(21Pi) * 1.08643 * integrate integrate [1529.788]   
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Result: 

 

Plot: 

 

 
result that is a good approximation to the value of the mass of the proton. 
 

Now: 

 

 

If magnetic force B = 0,03T   r = 5 ,  we have that C = 0,075. We calculate the 
following double integral: 

4Pi^2 * 1.08643 * integrate integrate [0.075]   

 

Result: 
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Plot: 

 

 

For B = 3  and  r = 5 , we have  C = 7,5 and 

(1/10^2) * (4Pi^2) * 1.08643 * integrate integrate [7.5]   

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the electric charge of the positron. 
 

Now: 
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If the density of the current is 2 * 106 A/m2 , the radius a = 3, we obtain: 

2Pi * integrate [2*10^6] x, [0, 3]   

 

We calculate now the following double integral: 

(1/10^32)(1/48(e^13*256)) * 1.08643 * (2Pi) * integrate integrate [2*10^6] 

 
Result: 

 

Plot: 

 

 

result that is a good approximation to the value of the electric charge of the positron. 
 



124 
 

We have take the following example: 
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Thence, we have for A = 8, a = 2 and b = 5 that c = 0,715541758... The value of the 
potential M is  

-4ℼ√Aa ((0,7155418 – 2,79508478)F+2,79508478E) =  

-50,2654824(-2,07954298F+2,79508478E) = 104,529231F – 140,4962848E 

Putting E and F equal to 1, we have the following result:  M = – 35,967 
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Now, we calculate the following double integral: 

-((0.61803398*3)* (1/26 * 1.08643^Pi)) * (integrate integrate [-35.967]) 

 
Result: 

 

Plot: 

 

 

result that is a good approximation to the value of the mass of the proton. 
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From: 

 

For a = 5, c = 2, we have that the potential Mac is 62,5637 

Now, we calculate the following integral: 

((0.61803398*2)* (1/26 * 1.08643)) * (integrate integrate [62.56370]) 

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the proton. 
 

 



 

Figure 20 (a) A toroidal solenoid. (b) A section of a toroidal solenoid, having radius 
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(a) A toroidal solenoid. (b) A section of a toroidal solenoid, having radius RT which is much larger than the coil turns radius which is much larger than the coil turns radius RC. 
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Thence, for the radius that is R = 2  and  c = 8,  a = 3,22c = 25,76  n = 233,  we 
obtain: 

 

L = 21946658,87   

Now calculate the following double integral: 

(1/10^34) * 10/(Pi*2.279585) * 1.08643 * integrate integrate [21946658.87] 

with the Bessel functions of the first kind 2,279585: 
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Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the proton. 
 

and: 

1/(10^5) * 1.08643 *((1.205932)^0.25)) * integrate integrate [2.194665887*10^7] 

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the Higgs boson. 
 

 

Where 1.205932 is the “Polar angle of circumscribed cone”, acos(1/(Φ√3) that is 

 

 

Now return to: 
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We analyze some values of the following Table, where M is the potential energy: 
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For the values 1,5963782 and 1,6018871 we calculate the following integrals: 

integrate [1.5963782]  x, [0, 4Pi] 

 

46Pi * 1.08643 * integrate integrate [1.5963782] 

 

Result: 

 

Plot: 

 

 

integrate [1.6018871]  x, [0, 4Pi] 

 

46Pi * 1.08643 * integrate integrate [1.6018871] 

 

Result: 
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Plot: 

 

result that is a good approximation to the value of the mass of the Higgs boson. 
 

 

We calculate the following integral: 

integrate [1.6734296]  x, [e, 4Pi] 

 

44Pi * 1.08643 * integrate integrate [1.6734296] 

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the Higgs boson. 
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138 
 

We have for K = 1,975  P = 60000000 the following mean energy in unit of volume: 

(1,975 * 600000002) / 8ℼ = 282897911345844,02582716260490228 

We calculate the following double integral: 

1/(10^41) * 1.08643^2 * integrate integrate 
[282897911345844.02582716260490228] 

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the proton. 
 

The natural logarithm is  33,276107211196598901862161176809 

1.08643 * integrate [33.276107211196598901862161176809] x, [0, 60Pi/72] 

 

Result: 

 

1.08643 * integrate [33.276107211196598901862161176809] x, [0, 1.618^2] 

 

result that is a good approximation to the value of the mass of the Higgs boson. 
 

 

 

Now: 
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Now, if  a = 0.08m; σ = 1* 10-4 C/m3   m = 9.109 * 10-31 kg,  e = -1,602176 * 10-19 C; 

v = 2100000 m/s;  c = 0.017 *10-3J 

We have: 

(-1,6106829924345217829206797200798 * 10-19) *  

              (1 – 2.543.252.595.155.709.342.560,553633218) =  

= (-1,6106829924345217829206797200798 * 10-19) *  

              (-2.543.252.595.155.709.342.559,553633218) =  

= 409,63737004822612818208792625391 V2/s2 

that is the electrodynamic potential. 

We have that: (409,63737004822612818208792625391 V2/s2)1/2 =  

= 20,239500242057018937979878680609 V/s 

Now, we calculate the following double integral: 

1/(sqrt(Pi)) * 1.08643 * integrate integrate [409.63737004822612818208792625391] 

 

Result: 

 
Plot: 
 

result that is a good approximation to the value of the mass of the Higgs boson. 
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We have that  ln (409,637370048226) = 6,0152723050328974854292293082325 

Now, we calculate the following integral: 

1.08643 * integrate [6.0152723050328974854292293082325] x,[0, 11/(5Pi)] 

 

Result: 

 

Or: 

11/(2.5176*e*Pi) * 1.08643 * integrate integrate 
[6.0152723050328974854292293082325] 

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the electric charge of the positron 
and of the mass of the proton. 
 

 

For the electric potential  



142 
 

V = Q / (4ℼεr)  where 

 

and the radius of the electron: 

 

We have: 

V = (-1.602176 * 10-19) / (4ℼ * 8,85418782 * 10-12 * 2,8179403267 * 10-15) = 

    = (-1.602176 * 10-19) / (3,13537833063641231390271451864 * 10-25) = 

    = -510999,25783909904739184988382171 V 

Now: 

 

From eq. (22), we have, for a mass 9,10938356 × 10−31 kg and  a = 0.08m; σ = 1* 10-

4 C/m3,  e = -1,602176 * 10-19 C; v = 2100000 m/s;  c = 0.017 *10-3J :  

0.5 (9,10938356 × 10−31 – (1,3333 * ℼ 0.08 * 1 *10-4 * -1.602176 * 10-19) /  

(0.017 * 10-3)2 ) * (2100000)2 + 4ℼ 0.08 * 1 *10-4 * -1.602176 * 10-19 – 

510999,257839 ;   
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- [0.5 (9,10938356 × 10−31 – (-5,3689433081 * 10-24) / (0,000000000289)) * 
(4410000000000) + (-1,610682992434521 * 10-23) -510999,257839] = 

=  510999,21687526 that is a const. and is defined as the equation of energy.  

Now, we calculate the following double integral: 

1/(10^3) * 1/(sqrt(5)) * 1.08643 * integrate integrate [510999.21687526] 

 

Result: 

 
 
 
Plot: 

 
 

result that is a good approximation to the value of the mass of the Higgs boson. 
 

 

   From: “SQUARE SERIES GENERATING FUNCTION TRANSFORMATIONS” 
   MAXIE D. SCHMIDT - https://arxiv.org/abs/1609.02803v2 
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We know that, from the first of (34): 

𝜋ଵ/ସ

Γ ቀ
3
4ቁ

= 1 + න
𝑒ି௧మ/ଶ

√2𝜋
ቈ

4𝑒గ൫𝑒ଶగ − cos൫√2𝜋𝑡൯൯

𝑒ସగ − 2𝑒ଶగ cos൫√2𝜋𝑡൯ + 1
቉

ஶ

଴

𝑑𝑡 

we have: 

Γ ൬
3

4
൰ =

𝜋√2

Γ ቀ
1
4ቁ

=
4,44288293815

3,625609908
= 1,2254167025 

 
𝜋ଵ/ସ

Γ ቀ
3
4ቁ

=
1,3313353638

1,2254167025
= 1,08643481 … 

With regard the integral, from 0 to 0,58438  for t = 2, where  
(2.71828^2)/(sqrt6.283185307) = 2,94780 for t=2, we have: 

 
integrate  (2.94780)[4e^3.14159265 * (e^6.283185307 - 
cos((sqrt6.283185307)2))]/[e^12.56637 - 2e^6.283185307 
(cos(sqrt6.283185307)2))+1]  x, [0,0.58438] 
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Thence,  1 + 0,0864364 = 1,0864364;          1,08643481 ≅ 1,0864364. 

 

In this paper, we have used 1,08643 as a new “Ramanujan’s constant” and we can see 
as this constant is fundamental for the results that we have obtained in all the various 
equations that we have analyzed and developed. 

In conclusion, we observe the new mathematical connection that we have obtained 
between the fundamental Maxwell’s equation and the particles, i.e. fermions as 
electrons, positrons and protons (that are open strings), by the use of this 
“Ramanujan’s constant”. 

Indeed, from eqs. (130-135) of paper “On Physical Lines of Force”: (from the 
Philosophical Magazine, Vol. xxi.] - XXIII. J.C.Maxwell), we have: 
 
1/(10^36) * (sqrt(6)/4)^8 * 1.08643 * integrate integrate [155370000140.18299865] 

dove “(√6)/4 = Circumradius sphere, congruent with vertices (Tetrahedron)” 

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the proton. 
 

1/2 * 1/(10^36) * (sqrt(6)/4)^8 * 1.08643 * integrate integrate 
[310740000280.3659973] 
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Result: 

 

Plot: 

 

 
result that is a good approximation to the value of the mass of the proton. 
 
 
Furthermore, from: 
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Now, from (45), we have that: 

 

 

For V = v = 310.740.000, r = 1 and putting e1  and  e2  = -1,602176 * 10-19 , we 
obtain: 

v2
 e1e2 = (310740000)2 (-1,602176*10-19)2 =  

= (96559347600000000)( 2,566967934976 * 10-38)  

= 2,478647491114017816576 * 10-21  

Then, we have that, for r = 1:    (v2
 e1e2 )/ v4 = (v2

 e1e2 )/ v4 = (e1e2)/ v2 = (e1e2)/ v2 . 

Now, (e1e2)/ v2 = ( 2,566967934976 * 10-38) / (96559347600000000) =  
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= 2,6584354583771027881302710872914 * 10-55  

If we calculate the natural logarithm of this number, (the natural logarithm can be 
defined for any positive real number a as the area under the curve y = 1/x from 1 to a) 
we obtain: 

Ln (2,6584354583771027881302710872914 * 10-55) =  – 125,664...  

a value practically equal to the boson Higgs mass that is  (125,09 ± 0,24) GeV/c² . 

We have that: 

(0.6289858)^8  * 1.08643 *  integrate [-125.664] x 

 
Result: 

 

Plot: 

 

 

Now, we calculate the following double integral for this value: 

(0.6289858)^8 * 1.08643 * integrate integrate [125.664] 

 

Result: 

 

Plot: 
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A value practically equal to the proton and anti-proton mass. 

From (21)  

 

for a = 21m; σ = 4.51* 10-8 C/m3   m = 9.109 * 10-31 kg,  e = -1,602176 * 10-19 C; v = 
2189000 m/s;  c = 0.017 *10-3J 

We obtain: - 5.26936 * 10-7 

We calculate the following double integral:  

Pi/(2e) 1.08643 * integrate integrate [-5.26936*10^-7] 

 
Result: 

 

 
Plot: 

 

result that is a good approximation to the value of the mass of the anti-proton. 
 

 
 
From: 
 
RAMANUJAN’S THEORY OF THETA FUNCTIONS 
Bruce Berndt - University of Illinois at Urbana-Champaign 
ℼ, 2009 
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Note that 1-9 = -8;  1728 / -8 = -216  and  1728 / 27 = 64 

 

Examples of class invariants 

 

  

is equal to 6,9292879.  We note that 1729 / 7 = 247;  1729 / 6,9292879 = 249,52058 

We calculate the following double integral: 

1.08643^2 * Pi/8 *  integrate integrate [6.9292879] 

 
Result: 
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Plot: 

 

result that is a good approximation to the value of the electric charge of the positron. 
 

Now: 

 

The result is G1353 = 103,7118167... 

We note that: 

 

 

is equal to (23,808697708)1/2 and that 23,80869... is about 24 and 24 *72 = 1728 

We calculate the following double integral: 

1.08643 * (0.6442)^8 *  integrate integrate [103.7118167] 
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Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the proton. 
 

Now: 

 

 

We have that  2c = 43.353157239  and  c = 21,6765786195 

e-6ℼ = 6,512494708 * 10-9 ;  √(469.874 + 1) – 21.6765786195 = 0,02305411120225; 

Thence  R = 0,02305411120225 / 6,512494708 * 10-9 = 3539981,564 

Note that: (3539981,564)1/32 = 1,60197701749786 

Now, we calculate the following double integral: 

1.08643 * (Pi/((26*10)^e)) *  integrate integrate [3539981.564] 

 
Result: 
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Plot: 

 

result that is a good approximation to the value of the mass of the proton. 
 

Now, from Ramanujan’s cubic class invariant: 

 

 

We have that λ73 = 446,1418559374  where (446,1418559374)1/12 = 1,6626062706... 

Now, we calculate the following double integral: 

1.08643^2 * Pi/(512) *  integrate integrate [446.1418559374] 

 
Result: 
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Plot: 

 

result that is a good approximation to the value of the electric charge of the positron. 
 

 

Mathematical connections 

 

We know that (see pg.142): 

𝜋ଵ/ସ

Γ ቀ
3
4ቁ

= 1 + න
𝑒ି௧మ/ଶ

√2𝜋
ቈ

4𝑒గ൫𝑒ଶగ − cos൫√2𝜋𝑡൯൯

𝑒ସగ − 2𝑒ଶగ cos൫√2𝜋𝑡൯ + 1
቉

ஶ

଴

𝑑𝑡 

we have: 

Γ ൬
3

4
൰ =

𝜋√2

Γ ቀ
1
4ቁ

=
4,44288293815

3,625609908
= 1,2254167025 

 
𝜋ଵ/ସ

Γ ቀ
3
4ቁ

=
1,3313353638

1,2254167025
= 1,08643481 … 

With regard the integral, from 0 to 0,58438  for t = 2, where  
(2.71828^2)/(sqrt6.283185307) = 2,94780 for t=2, we have: 

 
integrate  (2.94780)[4e^3.14159265 * (e^6.283185307 - 
cos((sqrt6.283185307)2))]/[e^12.56637 - 2e^6.283185307 
(cos(sqrt6.283185307)2))+1]  x, [0,0.58438] 
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Thence,  1 + 0,0864364 = 1,0864364;          1,08643481 ≅ 1,0864364. 

 

With regard the Maxwell’s equations (see pg. 79-81), we have calculate the following 
double integrals for 1,53678975*1023 , for 1.591549430918954 ,  for 155370000000, 
and for  310740000000 

 

1/(2*10^40) * 1/(26) * 1.08643 * integrate integrate [1.53678975*10^23] 

 

Result: 

 

Plot: 

 

1/(2*10^25) * 1/(26) * 1.08643 * integrate integrate [1.591549430918954] 

 

Result: 

 

Plot: 

 

result that is a good approximation to the value of the electric charge of the positron 
and to the mass of the proton. 
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1/(10^36) * (sqrt(6)/4)^8 * 1.08643 * integrate integrate [155370000140.18299865] 

dove “(√6)/4 = Circumradius sphere, congruent with vertices (Tetrahedron)” 

 
Result: 

 

Plot: 

 

 

1/2 * 1/(10^36) * (sqrt(6)/4)^8 * 1.08643 * integrate integrate 
[310740000280.3659973] 

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the proton. 
 
The above result of double integral, can be related to the following Ramanujan’s 
equation concerning the invariant class of theta function: 
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The result is G1353 = 103,7118167... 

We have calculate the following double integral: 

1.08643 * (0.6442)^8 *  integrate integrate [103.7118167] 

 
Result: 

 

Plot: 

 

result that is a good approximation to the value of the mass of the proton. 
 
Thence, mathematical connection between the fundamental Maxwell’s equation: 
 

 
 

 
 
and Ramanujan’s equation concerning the invariant class of theta function: 
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We have also calculate the integral of the wave function of the Universe of Hawking 
regarding the “no-boundary proposal”, that is (see pg.21): 
 

 
𝜓଴𝑎଴ = −3,357714479.  

1.08643 * integrate [-3.357714479]  x,[0, -Pi^2/10.53]   where 0,937284 is  
 
0,63547491/7 
 

 
 
 
After, we have calculate the following double integral: 
 
1.08643 * integrate integrate [-3.357714479]  [0, -Pi^2/11]    
 
where  – Pi^2/11 =  –  0.89723676  that is  
 
0,64807943551/4 (i^2) = 0.89723676 *  – 1 =  –  0.89723676   
 
 

 
Result: 

 
 
 

result that is a good approximation to the value of the electric charge of the electron 
and of the mass of the proton. 
 
 
 
 
 
Plot: 
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Parametric plot: 

 
 

 

From the eq. (28), (see pg.36) we have obtained: 

  

Q = (2.25 * 1) / 4ℼ*1*√(1+1) =  0,12660698195959304103119988623532;  

We have calculate the following double integral for Q: 

7Pi * 1.08643^2 * integrate integrate [0.12660698195959304103119988623532] 

 

Result: 
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Plot: 

 

Or: 

(24) * 1.08643 * integrate integrate [0.12660698195959304103119988623532] 

 
Result: 

 

Plot: 

 

 

values that are a good approximations to the value of the mass of the proton. 

And: 

(53Pi*11) * 1.08643 * integrate integrate [0.12660698195959304103119988623532] 

 

Result: 

 

result that is practically equal to the value of the mass of the Higgs boson. 
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Plot: 

 

Where 53 is a prime number and is the sum of five prime numbers  

53 = 5 + 7 + 11 + 13 + 17. 

 

We have obtained (see pg.40-41), evident mathematical connections between this 
Maxwell’s equation and the charge of black strings (charged rotating black holes). 

From the eq. (30) concerning the electric potential: 

 

U = 1 / (1.25 * 0.7) √3 =  

1,1428571428571428571428571428571 * 1,7320508075688772935274463415059 = 

= 1,979486637221574049745652961721 

We have calculate the following integral: 

(Pi*(ln1.606695)) * 1.08643 * integrate integrate 
[1.979486637221574049745652961721] 

where 1.606 695 is the “Erdös - Borwein constant” 

 

Result: 
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Plot: 

 

We have calculate the following double integral: 

(11Pi^2) * 1.08643^2 * integrate integrate [1.979486637221574049745652961721] 

 
Result: 

 

Plot: 

 

Results that are good approximation to the values of the electric charge of the 
positron and of the mass of the Higgs boson, 

    

 

are the Maxwell’s equation concerning the Gauss’ law in differential and integral 
form. 

With regard the mathematical connections with the eleven-dimensional supergravity, 
we have that (see pg.41-42) 
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Note that:  3456 = 1728 * 2   and that   √ଶ

ଷସହ଺
=

ଵ

ଵ଻ଶ଼√ଶ
 

We have that: 

 

 

−
1

2
−

1

2
−

1

48
−

√2

192
−

12√2

192
−

√2

3456
= 

=
−1728 − 1728 − 72 − 18√2 − 216√2 − √2

3456
= 

=
1728

3456
−

1728

3456
−

72

3456
−

18√2

3456
−

216√2

3456
−

√2

3456
= 

-3860,34018656 / 3456 = – 1,11699658 

We have  calculate the following integral (see pg.43-44): 

5.9049 * (10^36)  integrate [(1.44853201 * 10^-11)*(-1.11699658)] x 

 
Result: 

 
 
Plot: 
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Indefinite integral assuming all variables are real: 

 
 

and: 

(1/10^54) * 1.08643^2 * 5.9049 * (10^36)  integrate [(1.44853201 * 10^-11)*(-
1.11699658)] x, [0, 34/(2Pi)] 

 
Result: 

 
 
 

result very near to the value of the mass of the anti-proton. 

We have calculate the following double integral: 

(1*10^-52) * (2*0.618)^3 * 1.08643  integrate integrate [-4.77708*10^25] 

 
Result: 

 
 

Plot: 

 
 

 
 
Indefinite integral assuming all variables are real: 
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result very near to the value of the mass of the anti-proton. 

 

From pg.46 and 49-50 

1728 = 13744512 / 7954  

We calculate the following integral: 

integrate [13744512] x, [0, 1/(1.644934^13*Pi)] 

 

where 1,644934 = ζ(2) = ℼ2/6 

and the following double integral: 

1/(10^34) * 1.08643 * (Pi/sqrt(2))  integrate integrate [13744512]  

 
Result: 

 

 

Plot: 

 
  

result very near to the value of the mass of the proton. 

 

 

From pg. 49-50 

We calculate the following double integral: 
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1/(10^22) * 1.08643^2 * (Pi/2)  integrate integrate [1728] 

 
Result: 

 

Plot: 

 

 

 

and: 

1.08643  integrate [1728] x, [0, Pi/((1.618)^9)] 

Definite integral: 
 

 
 

results very near to the value of the electric charge of the positron. 

 

From Wikipedia 
 
The Dirac sea is a theoretical model of the vacuum as an infinite sea of particles with 
negative energy. It was first postulated by the British physicist Paul Dirac in 1930[1] 
to explain the anomalous negative-energy quantum states predicted by the Dirac 
equation for relativistic electrons.[2] The positron, the antimatter counterpart of the 
electron, was originally conceived of as a hole in the Dirac sea, well before its 
experimental discovery in 1932.[nb 1]  

Upon solving the free Dirac equation,  

 

                                                
 
one finds 
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where 
 

                                                     

 

for plane wave solutions with 3-momentum p. This is a direct consequence of the 
relativistic energy-momentum relation  

 

                                                  
 
upon which the Dirac equation is built. The quantity U is a constant 2 × 1 column 
vector and N is a normalization constant. The quantity ε is called the time evolution 
factor, and its interpretation in similar roles in, for example, the plane wave solutions 
of the Schrödinger equation, is the energy of the wave (particle). This interpretation is 
not immediately available here since it may acquire negative values. A similar 
situation prevails for the Klein–Gordon equation. In that case, the absolute value of ε 
can be interpreted as the energy of the wave since in the canonical formalism, waves 
with negative ε actually have positive energy Ep. But this is not the case with the 
Dirac equation. The energy in the canonical formalism associated with negative ε is –
Ep. In hole theory, the solutions with negative time evolution factors are reinterpreted 
as representing the positron, discovered by Carl Anderson. The interpretation of this 
result requires a Dirac sea, showing that the Dirac equation is not merely a 
combination of special relativity and quantum mechanics, but it also implies that the 
number of particles cannot be conserved. 

 

 
 
 
 
Generalization of the Dirac’s Equation and Sea 
H. Javadi, F. Forouzbakhsh and H.Daei Kasmaei - 14 June 2016 
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We take the value E = 1.022 MeV and calculate the following integral: 

 

1.08643 * [(2*0.61803398)^5] integrate integrate [1.022] 

 
Result: 

 
Plot: 

 

 

result that is practically equal to the electric charge of the positron! 
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Conclusion 

In conclusion, the reason why performing the double integrals of the various 
equations of Maxwell's electromagnetic theory are lepton-like solutions (protons, 
neutrons, electrons, positrons) and plots involving open curves, it allows to deduce 
that in the toroidal infinite-dimensional Hilbert space , as for branes, infinite open 
strings are anchored, therefore fermionics. We know that the interactions between 
open strings can always result in closed strings, therefore from the collision of two 
open strings, as happens for the annihilation between electron and positron, energy is 
emitted, which in the case of our model, generates a world toroidal brane, therefore a 
closed 3d string, also composed of bosons, just like the photons that make up the 
electromagnetic field (light). Practically the ends of two open strings, which come off 
the Hilbert space, when the two strings are annihilated, in reality what for us is the 
emission of bosons, is the creation from the two open strings, of a closed string that 
expanding becomes our D3-brane. The solutions of the integral equations that instead 
identify with the mass of the Higgs boson, are the further confirmation that it gives 
the mass to the fermions of the Standard Model. 

 “From the gravitational equations (4) follow the four independent linear 
combinations (27) of the basic electrodynamics equations (5) and their first 
derivatives. This is the exact mathematical expression of the aforementioned 
statement generally expressed on the character of electrodynamics as a consequence 
of gravitation” (from David Hilbert Paper). 

In our case the Maxwell's equations are a consequence of the 11D supergravity and 
therefore connected to it. This is further confirmation that gravity and 
electromagnetism at the Planck scale are part of a single superforce. This explains the 
reason of the resulting particle-type solutions (fermions) from which, by annihilation, 
are produced bosons like photons, the quanta of the electromagnetic field 

 

 

 

 

 

 



 

 

Fig.1 

 

 

Fig.1 shows the infinite-dimensional torus (Hilbert space), a purely geometric entity belonging to 
the informal phase. On this space lie the ends of open strings (massive bosons and / or fermions) 
and of them a very large number of pairs annihilate each other, giving rise to torus
universes (bubbles). They constitute the finite multiverse of an eternal inflationary
cycle a non-infinite multiverse is born, but with a well
succession of phases of singularity / expansion.

(The model proposed here therefore also contemplates the "no
consequent limited multiverse model of S. W. Hawking, developed by Hertog.)
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